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vjpu;tUk; fy;tpg; nghJj; juhjug; gj;jpu rhjhuz jug;  

guPl;irf;Fj; Njhw;wTs;s khztu;fSf;fhd  

tpNrl ,lu;fhy nraw;wpl;lk; - 2021 

khjpup tpdhj;jhs; - II  
juk; - 11 fzpjk; - I Neuk; :- 2 kzpj;jpahyk; 

gFjp - A 

 vy;yh tpdhf;fSf;Fk; ,t;tpdhj;jhspNyNa tpil vOJf. 

01) & 1200 ngWkhdKs;s fbfhuk; xd;iw ,wf;Fkjp nra;Ak; NghJ 8% jPu;it 

mwtplg;gl;lJ. jPu;itiaf; fhz;f. 

 

 

 

02) 60 𝑘𝑚ℎ−1 vDk; fjpapy; nry;Yk; thfdk; 3 kzpj;jpahyq;fspy; nry;Yk; J}uk; 

ahJ? 

 

 

 

03) cUtpy; epow;wpa gpuNjrj;ijj; njhilf;Fwpg;gPl;by; jUf. 

 

 

 

 

 

04) 𝑥(𝑥 − 2) = 0 vDk; rkd;ghl;ilj; jPu;f;f. 

 

 

 

05) RUf;Ff.  
1

3𝑥
+ 

1

𝑥
 

 

 

 

06) 3𝑥 − 1 ≤ 8 vDk; rkdpypiaj; jpUg;jpahf;Fk; vy;yh Neu;epiwnaz;fisAk; 

vOJf. 

 

 

 

𝑨 𝑩 
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07) 𝑣 = 𝑢 + 𝑎𝑡 vDk; #j;jpuj;jpy; 𝑡 I vOtha; khw;wk; nra;f. 

 

 

 

08) log2 32 vd;gjd; ngWkhdk; fhz;f. 

 

 

 

09) 2𝑥2 , 3𝑥𝑦 vd;gtw;wpd; nghJklq;FfSs; rpwpaijf; fhz;f. 

 

 

 

10) 12 kdpju;fshy; 4 ehl;fspy; nra;Ak; Ntiyapd; ,Uklq;F Ntiyia 16 

kdpju;fs; vj;jid ehl;fspy; nra;J Kbg;gu;? 

 

 

 

11) cUtpy; cs;s ,U Kf;NfhzpfSk;  

xUq;fpirthditah ,y;iyah  

vd;gijf; Fwpg;gpLf. 

xUq;fpirAk; vdpy; mjw;fhd epge;jidia  

vOJf. 

 

 

 

12) 1 njhlf;fk; 10 tiuf;Fk; vz;fs; vOjg;gl;Ls;s 10 ru;trk ml;ilfs; cs;s 

xU ngl;bapypUe;J vOkhwhf Xu; ml;il ntspNa vLf;Fk; NghJ Kf;Nfhz 

vz; fpilg;gjw;fhd epfo;jfitf; fhz;f. 

 

 

 

13) jpz;kf; $k;G xd;wpd; Miu 6 𝑐𝑚 MFk;. mjd; rha;T ePsk; 21 𝑐𝑚 MFk;. mjd; 

tisgug;gpd; gug;gsitf; fhz;f. (𝜋 =
22

7
 vdf; nfhs;f) 

 

 

 

𝟓𝟎° 

𝟔𝟎° 

𝟔𝟎° 𝟕𝟎° 

𝑨 

𝑩 𝑪 
𝒀 

𝒁 𝑿 
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14) cUtpy; 𝑥 If; fhz;f. 

 

 

 

 

 

15) (
3 −1
2 −1

) + 2 (
0 −1
𝑥 −3

) =  (
3 −𝑦
6 −5

) vdj; jug;gbd; 𝑥, 𝑦 vd;gtw;iwf; fhz;f. 

 

 

 

16) (0, 5), (3, 2) vDk; Gs;spfSf;$lhfr; nry;Yk; Neu;Nfhl;bd; gbj;jpwidf; fz;L 

mjd; rkd;ghl;il vOJf. 

 

 

 

17) ∆ 𝐴𝐵𝐶 apy; sin 𝜃 =
3

5
 vdpy; 𝐴𝐶 ,d;  

ePsj;ijf; fhz;f. 

 

 

 

 

18) 𝑂 vd;gJ tl;lj;jpd; ikak; MFk;.  

𝑥, 𝑦 vd;gtw;iwf; fhz;f. 

 

 

 

 

 

19) 1 ∶ 50000 vDk; mstpilf;F tiuag;gl;l Njrg;glj;jpy; 

(i) 4 𝑐𝑚 My; fhl;lg;gLk; cz;ikj; J}uk; vj;jid 𝑘𝑚 MFk;? 

 

 

(ii) 3 𝑘𝑚 If; Fwpg;gjw;F Njrg;glj;jpy; vj;jid 𝑐𝑚 My; Fwpf;f Ntz;Lk;? 

 

 

𝟖𝟎° 

𝑩 

𝑪 𝑨 

𝒚 

𝒙 

𝜽 

𝑨 

𝑪 𝑩 

𝟔 𝒄𝒎 

𝑪 

𝑨 

𝑫 

𝑩 

𝒙 

𝑬 

𝟏𝟐𝟎° 

𝟓𝟓° 

𝑭 
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𝟕 𝒄𝒎 

𝑨 𝟕 𝒄𝒎 𝑩 

𝑪 

 

20) cUtpy; 𝐴𝐵𝐶𝐷 Xu; rJuk; MFk;.  

juTfSf;Nfw;g 𝐵𝐶̂𝐸 ,d; gUkidf; fhz;f. 

 

 

 

 

21) fhuzp mwpitg; gad;gLj;jp ngWkhdk; fhz;f. 

 12.52 −  7.52  

 

 

 

22) 2𝑥 − 4𝑦 = 5 ,    𝑥 + 𝑦 = 1 vDk; xUq;fik rkd;ghLfisj; jPu;f;fhJ 𝑥 − 𝑦 ,d; 

ngWkhdj;ijf; fhz;f. 

 

 

 

23) cUtpy; fhy;tl;lk; xd;wpd; xU gFjp epow;wg;gl;Ls;sJ.  

epow;wpa gFjpapd; gug;gsT ahJ? 

 

 

 

 

24) cUtpy; Gs;sp 𝐵 apypUe;J Gs;sp 𝐴 ,d; jpirNfhs; ahJ? 

 

 

  

 

 

 

25) 𝑃, 𝑄, 𝑅 vd;gd %d;W tPLfspd; miktplq;fshFk;. ,k;%d;W tPLfSf;Fk; 

nghJthd Xuplj;jpy; fpzW xd;W mikf;fg;gl Ntz;bapUg;gpd; mjw;fhd 

mikg;gpid xOf;F gw;wpa mwpitg; gad;gLj;jp gUk;gbg; glj;jpy; Fwpf;f. 

  

t 

𝟑𝟎° 
fp 𝑨 

𝑩 

𝑫 

𝑨 𝑩 

𝑪 

𝑬 

𝑷 

𝑸 
𝑹 
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gFjp - B 

 vy;yh tpdhf;fSf;Fk; tpil jUf. 

01) (a) RUf;Ff.  
3

4
−  

1

2
 ×  

2

3
 

(b) xUtu; jd;dplkpUe;j fhzpapd; 
1

3
 gq;fpid kfSf;Fk; vQ;rpa fhzpapd; 

3

5
 

gq;fpid ,U kfd;fSf;Fk; rkkhfg; gfpu;e;J nfhLf;fpd;whu;. 

 (i) kfSf;Ff; nfhLj;j gpd; vQ;rpa fhzp vd;d gpd;dkhFk;? 

 

 

 

 (ii) xU kfDf;Ff; fpilf;Fk; fhzp KOf; fhzpapd; vd;d gpd;dkhFk;? 

 

 

 

 (iii) %tUf;Fk; toq;fpa nkhj;jf; fhzp KOf; fhzpapd; vd;d 

gpd;dkhFk;? 

 

 

 

 (iv) je;ijaplk; kPjkhfTs;s fhzpapd; ngWkjp & 80000 vdpy; KOf; 

fhzpapd; ngWkjp ahJ? 

 

 

 

 

02) 30 𝑚 ePsKk; 24 𝑚 mfyKk; nfhz;l nrt;tf tbt G+q;fh xd;wpd; xt;nthU 

%iyapYk; 5 𝑚 gf;f ePsKs;s rJu tbt G+f;fd;Wfs; tsu;f;fg;gLk; gFjpAk; 

mjd; ikag; gFjpapy; tl;l tb ePu;j;jlhfKk; Vida gFjpfspy; Gw;fSk; 

tsu;f;fg;gLfpd;wd. 

(i) ePu;j;jlhfj;jpd; Miu ahJ? 

 

 

(ii) ePu;j;jlhfj;jpd; gug;gsT ahJ? 

 

 

 

𝟓 𝒎 

𝟓 𝒎 𝟓 𝒎 

𝟐𝟒 𝒎 

𝟑𝟎 𝒎 
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(iii) Gw;fs; tsu;f;fg;gLk; gFjpapd; gug;gsT ahJ? 

 

 

 

(iv) xt;nthd;Wk; ,g;G+q;fhtpd; gug;gstpd; fhw;gq;F gug;gsTs;s nrt;tf 

tbt ,U fhzpj; Jz;Lfs; mjd; ,U mfyg; gFjpfspy; Gjpjhf 

,izf;fg;gl;Ls;sd. ,jid mstPLfSld; Nkw;gbg; glj;jpy; Fwpf;f. 

 

 

 

 
 

03) E}yfk; xd;wpw;F tUif jUk; thrfu;fs; 

tpUk;gp thrpf;Fk; E}y;fs; njhlu;ghf 

Nrfupf;fg;gl;l jfty;fs; mUfpYs;s tl;l 

tiugpy; fhl;lg;gl;Ls;sJ. 

(i) ehty;fis tpUk;gp thrpf;Fk; thrfu;fspd; 

vz;zpf;ifahdJ nkhj;j thrfu;fspd; 

vz;zpf;ifapd; vd;d gpd;dkhFk;? 

 

 

 

(ii) ftpij kw;Wk; fij vd;gtw;iw thrpf;Fk; thrfu;fsJ vz;zpf;if rkk; 

vdpy; fij thrpg;gtu;fisf; Fwpf;Fk; Miur;rpiwf; Nfhzk; ahJ? 

 

 

 

(iii) fij thrpg;gtu;fsJ vz;zpf;if 30 Ngu; vdpd; ehty;fis thrpg;Nghu; 

vj;jid Ngu;? 

 

 

 

(iv) fij thrpf;Fk; thrfu;fspy; 20% khNdhu; ftpij thrpg;gjw;Fj; 

jPu;khdpj;jdu; vdpy; ftpij thrpg;gtu;fisf; Fwpf;Fk; Miur;rpiwf; 

Nfhzk; ahJ? 

 

 

𝟏𝟐𝟎° 

ehty;
fs; 

ftpij 

nghJ 
mwpT 

fij 
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04) fk;gdp xd;wpdJ gq;Ffs; & 90 ,w;F re;ij tpiyapy; tpw;gid nra;ag; 

gLfpwJ. ,g;gq;FfSf;fhff; fk;gdp xU gq;fpw;F & 5 gq;fpyhgkhff; 

nfhLf;fpwJ. 

(i) ,f;fk;gdpapy; & 45000 I KjyPL nra;Ak; tpky; thq;fpa gq;Ffspd; 

vz;zpf;if ahJ? 

 

 

 

(ii) tpkYf;Ff; fpilf;Fk; Mz;Lg; gq;fpyhgk; ahJ? 

 

 

 

(iii) Xuhz;Lg; gq;fpyhgj;ijg; ngw;w gpd; tpky; vy;yhg; gq;FfisAk; tpw;gjd; 

%yk; & 10000 I %yjd ,yhgkhfg; ngw;whu; vdpy; xU gq;fpd; tpw;gid 

tpiyiaf; fhz;f. 

 

 

 

(iv) tpky; jd;dplKs;s gq;fpyhgk; kw;Wk; %yjd ,yhgk; vd;gtw;Wld; NkYk; 

& 7500 Nru;j;J 12% Mz;L vspa tl;b toq;Fk; epWtdj;jpy; itg;Gr; 

nra;jhy; ,U Mz;Lfspd; ,Wjpapy; fpilf;Fk; nkhj;jg; gzk; ahJ? 

 

 

 

 

05) (a) ig xd;wpDs; xNu msthd 4 ePy epwg; 

ge;JfSk; 2 rptg;G epwg; ge;JfSk; 

cz;L. vOkhwhfg; ge;J xd;W ntspNa 

vLf;fg;gl;L mjd; epwk; Fwpf;fg;gl;L 

igapDs; ,lg;gLfpwJ. kPsTk; 

igapypUe;J vOkhwhfg; ge;J xd;W 

ntspNa vLf;fg;gLfpwJ. 

 (i) khjpupntspia nea;aupapy; Fwpj;Jf;  

  fhl;Lf. 

 

 

       

       

       

       

       

       

       

       

 

,
uz

;l
hk
; 
j
l
i
t
 
 

Kjyhk; jlit  

 

𝑅2 

𝑅1 

𝐵4 

𝐵3 

𝐵2 

𝐵1 

𝐵1 𝐵3 𝐵2 𝐵4 𝑅1 𝑅2 
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 (ii) ,U jlitfspYk; xNu epwg; ge;J fpilg;gjw;fhd epfo;jftpidf; 

fl;lkpLf. mjd; epfo;jftpidf; fhz;f. 

 

 

 (iii) Kjypy; rptg;G epwg; ge;J fpilg;gjw;fhd epfo;jfT ahJ? 

 

 

 

(b) 7 Mz;fSk; 3 ngz;fSk; nfhz;l FO xd;wpypUe;J jiytu; xUtUk; 

nrayhsu; xUtUk; njupT nra;ag;gl Ntz;bAs;sJ. 

 (i) Kjypy; jiytiuj; njupT nra;tjw;fhd epfo;tpidf; Fwpf;Fk; 

kutupg;glj;ijg; g+uzg;gLj;Jf. 

 

 

 

 

 

 

 

 

 

 (ii) nrayhsiuj; njupT nra;tjw;fhd epfo;tpidf; Fwpf;Fk; kutupg; 

glj;ij NkNyAs;s kutupg;glj;ijg; gpujp nra;J mjid 

tpupTgLj;Jf. 

 

 

 

 (iii) njupT nra;ag;gLgtu;fSs; xUtu; MzhfTk; kw;iwatu; 

ngz;zhfTk; ,Ug;gjw;fhd epfo;jfT ahJ? 

 

Mz; 

ngz; ............. 

𝟕

𝟏𝟎
  

jiytu; njupT 
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vjpu;tUk; fy;tpg; nghJj; juhjug; gj;jpu rhjhuz jug;  

guPl;irf;Fj; Njhw;wTs;s khztu;fSf;fhd  

tpNrl ,lu;fhy nraw;wpl;lk; - 2021 

khjpup tpdhj;jhs; - II  
juk; - 11 fzpjk; - II Neuk; :- 3 kzpj;jpahyk; 

Nkyjpf thrpg;G Neuk; 10 epkplk;  

gFjp - A 

 Ie;J tpdhf;fSf;F kl;Lk; tpil vOJf. 

01) & 100000 itj;jpUf;Fk; Rkd; vd;gtu; tUl Muk;gj;jpy; mjd; miuthrpg; 

gzj;njhifapid fk;gdp xd;wpy; & 25 ngWkjpAs;s gq;Ffisf; nfhs;tdT 

nra;tjw;F KjypLfpwhu;. kPjpg; gzj;ij 12 % Mz;L tl;bg;gb 6 khjq;fspw;F 

xU jlit tl;b fzpf;fg;gLk; epjp epWtdk; xd;wpy; $l;Ltl;bf;F 

itg;gpypLfpwhu;. 

(i) fk;gdpapy; thq;fpa gq;Ffspd; vz;zpf;if ahJ? 

(ii) fk;gdp tUl ,Wjpapy; gq;F xd;wpw;F & 3.50 gq;fpyhgkhf toq;Fk; 

vdpy; mtUf;Ff; fpilf;Fk; gq;fpyhgk; ahJ? 

(iii) epjp epWtdj;jpy; tUl ,Wjpapy; fpilf;Fk; nkhj;j tl;b vt;tsT? 

(iv) ve;j tif KjyPL rpwe;jJ? fhuzk; jUf. 

 

02) rhu;G 𝑦 = (𝑥 − 1)2 − 5 ,d; tiuig tiutjw;Fj; jahupf;fg;gl;l xU G+uzkw;w 

ml;ltiz fPNo jug;gl;Ls;sJ. 

𝑥 −2 −1 0 1 2 3 4 

𝑦 4 −1 −4  −4 −1 4 

 
(i) 𝑥 = 1 Mf ,Uf;Fk; NghJ 𝑦 ,d; ngWkhdj;ijf; fhz;f. 

(ii) nghUj;jkhd mstpilia vLj;J rhu;gpid tiuf. 

(iii) tiugpidg; gad;gLj;jp gpd;tUtdtw;wpw;F tpil jUf. 

 (a) rhu;gpd; jpUk;gw; Gs;spapd; Ms;$W ahJ? 

 (b) rhu;G kiwahf mjpfupf;Fk; 𝑥 ,d; ngWkhd tPr;R ahJ? 

 (c) 𝑥2 − 2𝑥 − 4 = 0 vDk; ,Ugbr; rkd;ghl;bd; %yq;fis vOJf. 

 (d) Nkw;gb tiugpw;F xj;jjhf 𝑥 mr;rpw;F vjpu;j;jpirapy; ,t;tiuG xU 

myF efu;j;jg;gLk; vdpy; Gjpa rhu;gpd; rkd;ghL ahJ?  
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𝒙 
𝟏 𝒄𝒎 

 
03) cUtpYs;sthW cNyhfj; jfL xd;wpypUe;J miutl;l> fhy;tl;l gFjpfisf; 

nfhz;l cU ntl;b vLf;fg;gl;lJ. 

(i) miu tl;lg; gFjpapd; gug;gsit 𝜋, 𝑥 

 rhu;gpy; jUf. 

(ii) fhy; tl;lg; gFjpapd; gug;gsit 𝜋, 𝑥  

 rhu;gpy; jUf. 

(iii) ,U gFjpfspdJk; gug;gsTfs; rkk; vdpy; 

 𝑥2 − 2𝑥 − 1 = 0 vdf; fhl;Lf. 

(iv) √2 = 1.414 vdf; nfhz;L 𝑥 ,w;F ,Uf;fj;jf;f nghUj;jkhd ngWkhdj;ij 

Kjyhk; jrkjhdj;jpw;Fj; jpUj;jkhff; fhz;f. 

 

04) (a) RUf;Ff  
2

𝑥+1
−  

1

𝑥2−1
 

(b) utpaplKk; fkyplKk; cs;s gzj;njhiffspd; $l;Lj;njhif & 200 

MFk;. utp fkYf;F & 30 nfhLj;jhy; ,UtuplKk; cs;s gzj;njhiffs; 

rkdhFk;. 

 (i) Muk;gj;jpy; utpaplk; cs;s gzk; & 𝑥 vdTk; fkyplk; cs;s gzk; 

& 𝑦 vdTk; nfhz;L xUq;fik rkd;ghl;Lr; Nrhbia cUthf;Ff. 

 

 (ii) rkd;ghl;ilj; jPu;j;J Muk;gj;jpy; xt;nthUtuplKk; ,Ue;j gzj; 

njhifapidj; jdpj;jdpNa fhz;f. 

 

05) njhopw;rhiy xd;wpy; ntl;b mfw;wg;gl;l fk;gpj; Jz;Lfspd; ePsq;fs; (𝑐𝑚y;) 

gw;wpa tpguq;fs; gpd;tUk; kPbwd; guk;gypy; jug;gl;Ls;sd. 

fk;gpj;Jz;Lfspd; 
ePsk; (𝑐𝑚y;) 00 − 10 10 − 20 20 − 30 30 − 40 40 − 50 50 − 60 

vz;zpf;if 4 7 9 12 6 2 

 

(i) Mfhu tFg;ghapil ahJ? 

(ii) Mfhu tFg;ghapilapd; eLg;ngWkhdj;ij vLnfhz;l ,ilahff; nfhz;L 

kPbwd; guk;gypd; ,ilg;ngWkhdj;ij KO vz;zpy; fhz;f. 

 

(iii) ntl;b mfw;wg;gl;l fk;gpj;Jz;Lfspd; nkhj;j ePsk; 13 𝑚 ,Yk; 

mjpfkhfhJ vDk; $w;iw Vw;Wf; nfhs;syhkh? fhuzk; jUf. 
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06) 7 𝑐𝑚 MiuAila cUis tbtg; ghj;jpuk; xd;wpDs; xNu msthd Ie;J 

Nfhsq;fis ,l;lNghJ ghj;jpuj;jpYs;s ePu;kl;lk; 6 𝑐𝑚 My; cau;e;jJ. 

(𝑟 MiuAk; ℎ cauKk; cila nrt;tl;l cUisapd; fdtsT 𝜋𝑟2ℎ MFk;. 

 𝑟 MiuAila jpz;kf;Nfhsk; xd;wpd; fdtsT 
4

3
𝜋𝑟3 MFk;) 

(i) cau;e;j ePupd; fdtsT ahJ? (𝜋 rhu;ghf) 

(ii) Nfhsk; xd;wpd; MiuahdJ 𝑟 = √44.1
3

 vd;gjhy; jug;gLk; vdf; fhl;Lf. 

(iii) klf;if ml;ltiziag; gad;gLj;jp 𝑟 ,d; ngWkhdj;ij Kjyhk; jrk 

jhdj;jpw;Fj; jpUj;jkhff; fhz;f. 

 

gFjp - B 

 Ie;J tpdhf;fSf;F kl;Lk; tpil vOJf. 

07) (a) myq;fhu nraw;ghL xd;wpy; Kjy; tisaj;jpy; 5 kyu;fSk; ,Wjp 

tisaj;jpy; 62 kyu;fSk; xU $l;ly; tpUj;jpapy; mikaj;jf;fjhf 

xOq;fikf;fg;gl;bUe;jJ. 

 (i) 670 kyu;fisf; nfhz;L Nkw;gb nraw;ghL nra;ag;gl;lnjdpy; 

vj;jid tisaq;fs; gad;gLj;jg;gl;bUe;jd? 

 

 (ii) mLj;jLj;j ,U tisaq;fspy; cs;s kyu;fspd; vz;zpf;if 

fSf;fpilapyhd tpj;jpahrk; ahJ? 

 
(b) ngUf;fy; tpUj;jp xd;wpd; Kjyhk; cWg;G 18 MFk;. mjd; ehd;fhk; 

cWg;G 
2

3
 MFk;.  

 (i) nghJ tpfpjk; ahJ? 

 (ii) Mwhk; cWg;igf; fhz;f. 

 
08) 𝑐𝑚/𝑚𝑚 mstpilAs;s Neu;tpspk;igAk; ftuhaj;ijAk; kl;Lk; gad;gLj;jp 

gpd;tUk; Nfj;jpu fzpj mikg;gpid tiuf. mikg;Gf; NfhLfisj; njspthff; 

fhl;Lf. 

(i) 𝐴𝐵 = 8 𝑐𝑚 , 𝐵𝐴̂𝐶 = 60° , 𝐴𝐶 = 6.5 𝑐𝑚 MfTs;s Kf;Nfhzp 𝐴𝐵𝐶 I mikf;f. 

(ii) Gs;spfs; 𝐵, 𝐶 vd;gtw;Wf;Fr; rkJ}uj;jpy; mirAk; Gs;spapd; xOf;if 

tiuf. 

(iii) NfhL 𝐴𝐵 I 𝐵 ,y; njhLtJk; Gs;sp 𝐶 apD}L nry;tJkhd tl;lj;ij 

mikf;f. 

(iv) mjd; Miuia mse;J vOJf. 
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09) 𝑂 I ikakhfTila tl;lj;jpy; 𝐴𝐵𝐶𝐷 

xU tl;l ehw;gf;fyhFk;. ePl;lg;gl;l 

𝐴𝐶 Ak; 𝐵 ,y; tiuag;gl;l njhlypAk; 

𝑄 ,y; re;jpf;fpd;wd.  

(i) 𝐵𝐶̂𝑄 ,w;Fr; rkdhd Nfhzk; ahJ? 

(ii) 𝐴𝐵̂𝑄 ,d; gUkd; ahJ? 

(iii) 𝐴𝐵̂𝐷 w;Fr; rkdhd Nfhzk; ahJ? 

(iv) 𝐷𝐶//𝐵𝑄 vdpy; 𝐵𝐶 = 𝐵𝐷 vdf; fhl;Lf. 

 

10) njw;fpypUe;J tlf;F Nehf;fpAs;s xU Fsj;jpd; 

Neu;f;fl;L kPJ Gs;sp 𝐴 apYs;s xUtu; Fsj;jpy; mNj 

fpilkl;lj;jpy; ,Uf;Fk; xU ghiw 𝐶 MdJ jpirNfhs; 

32° 20′ ,Yk; 150 𝑚 J}uj;jpYk; ,Ug;gijf; fhz;fpwhu;. 

(i) cUitg; gpujp nra;J juTfisf; Fwpf;f. 

 
 

(ii) 𝐶 apypUe;J Fsf;fl;bd; kpff; FWfpa J}uk; 𝐶𝑃 iaj; jpupNfhz fzpj 

tpfpjq;fisg; gad;gLj;jpf; fpl;ba kPw;wUf;Ff; fzpf;f.  

 

(iii) 𝑃 apypUe;J 80 𝑚 tlf;Nf mNj fpilkl;lj;jpy; cs;s Gs;sp 𝐵 apypUe;J 

Gs;sp 𝐶 ,d; jpirNfhs; ahJ? 

 

11) (a) tptrhaf; fpuhkk; xd;wpy; rpy 

tptrhapfsplkpUe;J ngw;w jfty;fis 

mbg;gilahff; nfhz;l ntd;DU 

mUfpy; fhl;lg;gl;Ls;sJ. 

𝜀 = {fpuhkj;jpYs;s tptrhapfs;} 

𝐴 = {ney; gapupLNthu;} 

𝐵 = [fha;fwp gapupLNthu;} 

𝐶 = [thio gapupLNthu;} 

 (i) fha;fwp gapupLNthupd; vz;zpf;if 45 vdpy; %d;W gapu;fisAk; 

gapupLNthu; vj;jid Ngu;? 

 

 

𝑨 

𝑩 𝑷 𝑸 

𝑪 

𝑫 

𝑶 

𝑩 

𝑪 

𝑨 
𝟗 

𝟏𝟐 
𝟏𝟎 

𝟏𝟓 

𝜺 
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𝑪 

t 
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 (ii) Nkw;Fwpj;j gapu;fspy; xd;iwNaDk; gapuplhj tptrhapfspd; 

vz;zpf;if 35 Ngu; vdpy; jfty; Nrfupj;j tptrhapfspd; vz;zpf;if 

ahJ? 

 

 (iii) xU gapiu kl;Lk; gapupLNthu; vj;jid Ngu;? 

 

 

(b) 𝐴, 𝐵 vd;gd xd;iw xd;W rhuh epfo;r;rpfs; MFk;. 𝑃(𝐴) =
3

5
 , 𝑃(𝐵) =

2

5
 

MFk;. 

 (i) 𝑃(𝐴 ∩ 𝐵) ahJ? 

 (ii) 𝑃(𝐴 ∪ 𝐵) ahJ? 

 

12) cUtpy; 𝐴𝐵𝐶𝐷 Xu; ,izfukhFk;. 

𝐷𝑄 = 𝑃𝐵 MFk;. 

(i) 𝐷𝑃 = 𝑄𝐵 vdf; fhl;Lf. 

(ii) ∆ 𝐴𝐷𝑃 ≡ ∆ 𝐵𝐶𝑄 vd epWTf. 

(iii) ehw;gf;fy; 𝐴𝑄𝐶𝑃 Xu; ,izfuk;  

 vd epWTf. 
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